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5.HIE & &

> UNE Ex X2 S8

=P
T Son l s
REETY 0 0.00
B 0 0.00
S REERINCEELD 0 0.00
SENEREER: 0 0.00
EESS 0 0.00
L C§ 2 Of 21 01 RH(ZE A (2.8) SIErg s 7 0 0.00
CHE=0H0H, S22 0 0.04
o T xA=age =
e Y 1 0.07
T ER 1 0.11 1
EERER > 0.12 1
TN 0 0.21 0
B NG AL 0 0.38 0
RN CERLD 0 0.01 0
SEEREER 0 0.00 0
EPS 0 0.61 0
BHATH | Of 10| RHFAL) C1 JIEIZ]Z2) 0 0.00 0
R e I 0.04 0
WO T EaN=sge S
o IR 0 0.08 0
TTE Rl 0 0.12 0
EEEL 0 0.12 0
2= Al 0 0.21 0
B 0 0.35 0
S RNEEEINCEELD 0 0.01 0
SENEEEER: 0 0.00 0
EES 0 0.58 0
1 H | Of 21 0] 2H(F A C2 EEEED 0 0.00 0
RS- I 0.04 0
bl R V=P
o TR 0 0.07 0
TTE Rl 0 0.11 0
=S HAHA 0 0.11 0
TN 0 0.21 0
S OB AL 0 0.32 0
SRR RN CERED) 0 0.01 0
SENEEEER: 0 0.01 0
EPS 0 0.54 0
HIACHAH O 20| RH(FA) C3 JIEHH 2]=2) 0 0.00 0
S0, EHE2E | 0 0.04 0
OH O IANEHAS S
o e 0 0.07 0
TTE Rl 0 0.11 0
=M 0 0.12 0
A2 A 0 0.21 0
ENE 1 0.28 1
T E A 5 2 3l AHA TS 1) 0 0.01 0
SENEREER 0 0.01 0
PSSl 1 0.51 1
WACHA O 210 RHFA) C4 JIEtHI E]F2) 0 0.00 0
S0, EHE22 |0 0.04 0
OH Ok IANESGD
N S 0 0.07 0
TEE Rl 0 0.11 0
== A 0 0.12 0




NEEN 2 0.21 2 0.21
EERN 2 0.25 2 0.25
R EREEINREERD) 0 0.01 0 0.01
QU BFALR 2H2] 3] At 0 0.01 0 0.00
RSPl 4 0.48 4 0.47
BH A CHAH O] 210| 2} (A C5 PIEEEIED) 0 0.00 0 0.00
. CHE=0H0H, EHSS2 0 0.04 0 0.02
TARAY R £
=H 1 0.07 0 0.04
e NHIA 42
T BH| 1 0.11 0 0.06
=2 HHAl 1 0.12 0 0.06
XAt 2 AL 0 0.21 0 0.21
THOH 3] At 0 0.16 0 0.15
EE R EINREER)) 0 0.01 0 0.01
FENEEEER 0 0.01 0 0.00
R 1 0.39 1 0.38
AT A O 210] 2H(F=4)) Ce IETEIED 0 0.00 0 0.00
oHaH CH=0H0H, EHS$2 0 0.04 0 0.02
I}\|.‘=’/\—io-|_\_T1_ %
b N 0 0.07 0 0.04
e NHIA 248
T S| 0 0.11 0 0.06
=2 A KAl 0 0.12 0 0.06
* HEO| =X ASM(II2HE A [HH] HISS LIEF-HLIC
*+ J|EFHI 02 SIHAAHIZ, S22 SOl Ole 2 2HHIE S HEWAM ZAN BI=2NOR2 &= HEO2AH MHI-SiH22= Al
Q&2 ALICEH
¥ ALESUHY 0 Y S
 UHEUIA Y els
> S8, HIEHIS (SH2l: o BHAF %)
22 | E82-HIZHIS(A) F| 0HoH-ESH22=2HI2(8) *? S (A+B)
0| 0.0012 0.4396 0.4408
| A2
HEDACBOIREFNES) =Pl 0.0012 0.2364 0.2376
0| 2.4083 0.4568 2.8651
| XAl
HEHACRIOIR(EA)CT Epl 2.4077 0.2363 2.644
0| 2.0827 0.4214 2.7041
Al
2SI 0121 01 XH(F A1) C2 =Pl 2.2834 0.2375 2.5209
0| 2.1601 0.4406 2.6007
Al
2SI 0121 01 XH(F4)C3 =Pl 2.1597 0.2374 2.3971
0| 2.036 0.441 2.477
| = Al
2SI HH 0121 01 XH(F41)C4 =Pl 2.0371 0.2353 2.0724
0| 1.9116 0.4407 2.3523
| XAl
2SI HH 0121 01 XHF41)C5 =Pl 1.9126 0.2374 2.15
0| 1.5367 0.44 1.9767
| = Al
AT 012101 XH(F 41)Ce =] 15374 0.2368 1.7742
=1) £24-H|2H|I2(Total Expense Ratio)0|2t 2284 S HEWA 2E6t= 'E4'2 'J|EHHIE' EUS XA HTEOH (B2 4
2 U2 IF)CZ L= HISZM Y 28J12t & SEXNAI BEE £ E4-HI22F2 UEHHLICH
Z=2) DHOH-ZHL2 HISO0I2H - EH2L2E X4 HEEAM(E2HIE UH2E JE)2Z2 UE HIBZAM Y 282124 E &
XEXEOF S OHOH-SH 2229 +F2 LIEFYLICEH
6. S XLAHAHOH OHLH &
> HHF=AAE 2 3HE (Ehsl: sokel, %)
ES [ MMMEEER
2t =2 2t =2 oH NESIEL OF BHAF
329,566 15 306 374,144 16 870 25.11 101.82
=) HOHE B S0I2 S 2|2 = NS s TAIDIMHO SHS 7 §ilY 2|2t E E88t ZAIQ BRIIUO 2 Lix HIELICH
T ERSESTRE== = DHDH31EH 22(0.1% Wel) ¢ %EMHHNDHEM 0.3%) WMoz AN EXXI BLEIH &= HEH K0
ZILEILICE
> =2 327 =4 g &= =0| (S %)
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